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1 |deiEE
2 | BEHRR
3 |EFE
4 |EHRE 1.4E+4 13,900.0 13,900.0
5 |MHE
6 [ILUZE
7 |EER 6.4E+3 6,373.0 6,373.0
8 |ZWE 1.8E+1 18.0 18.0
9 |#HHKE 1.2E+4 12,000.0 12,000.0
10 [HEE 1.8E+4 18,404.0 18,404.0
11 |BEE 3.3E+2 328.0 328.0
12 | FEE
13 |REE 5.3E+3 5,300.0 5,300.0
14 |[#FIE 1.1E+4 10,880.0 10,880.0
15 |#RE 3.3E+0 33 3.3
16 |[EWLE
17 _|RBINE
18 |&EHR
19 [WHE
20 |RHFE
21 [IHBE 1.1E+3 1,118.0 1,1180
22 |EER 6.1E+0 6.1 3.0E+2 295.0 301 1
23 | BHER 2 4E+4 24,314.0 24,3140
24 |[ZEE 1.0E+0 1.0 5.2E+4 51,613.0 51,614.0
25 |HER 9.7E+3 9,740.0 9,740.0
26 |[TRHEDAF 1.8E+2 180.0 180.0
27 | KBRFF 3.2E+0 3.2 1.6E+3 1,562.0 1,5652
28 |EER 8.0E-1 0.8 5.3E+3 5272.0 52728
29 |&ZRER
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31 |ERE
32 |BiRE
33 |[EWLER 1.5E+1 15.0 1.9E+3 1,940.0 1,955.0
34 |ILER 2.0E+3 2,000.0 2,000.0
35 [wOg 1.0E-1 1.0E-1 0.2 1.3E+4 13,214.0 132142
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40 [fEME 2.8E+4 28,412.0 28.412.0
41 |#EER
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43 |[RBEXRE 3.5E+3 3,500.0 3,500.0
44 | KB
45 [EIBE 1.6E+3 1,600.0 1,600.0
16 |EREE
47 [;hiBe
& [F 2.6E+1 1.0E-1 26.3 2.1E+5 211,966.3 211.9926
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